Algebra I – Section 6.2 Guided Notes Cont…

Review IXL S.4

1.)  A line has a slope of 8 and includes the points (-9, 0) and (-8, z).  What is the value of z?





2.)  A line that includes the points (-3, -6) and (2, u) has a slope of -8.  What is the value of u?





Section 6-2: Slope-Intercept Form for the equation of a line
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1.)  Write the equation of the line in Slope-Intercept Form that passes through this pair of points: ____________________










2.)  Write the equation of the line in Slope-Intercept Form that passes through this pair of points: ____________________
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Find the y-intercept and x-intercept of this line:

y = 2x + 3




Find the slope and y-intercept of each line:

1.) 								2.) 






Write an equation to model each situation.

1.)  You have 75 songs on your i-pod right now and plan to download 4 more each week.







[bookmark: _GoBack]2.)  At the ballgame, you bought 3 hot dogs and 4 Cokes for $25.25.
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a) (-6,14)&(3,8)

First: Find the slope. - -2
P The same as previous: MV = 3

Second: Replace m in y = mx + b with the slope

>/= _EX 4——\3

Third: Replace y and x with the coordinates of one of
the points  Using (3,8) g="2(3) *b

Fourth: Solve for b.

Firstsimplify Q= -2 —\-b b=10
add 2 to both sides +2  +2

Fifth: Rewrite y = mx + b with the values of m and b

you've found. 2
V="%x 10
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1. Write the equation of the line that passes through each pair points. Give your answer in
Slope-Intercept Form

a) (-6,14)&(3,8)

Method 1:
First: Find the slope. = h-2 -5 °

Second: Write the equation in Point-Slope Form
Using (3.8) Y-S = ’% [x-l\
Third: Change Point-Slope into Slope-Intercept
.2
Distribute the slope: \/—% = —33( +
t 8 +8

Add 8 to both sides: _
=% r0)
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Write the equation of this line in Slope-Intercept Form:
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Write the equation of this line in Slope-Intercept Form:
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Write the equation of this line.
oA





image6.tiff
Write the equation of this line in Slope-Intercept Form





